SERVICE INVOICE

Locations: Marshfield WI Prentice WI Charlotte NC New Century KS

Madison WI

Remit To: V&H, Inc PO Box 622 Marshfield, WI 54449 Store Address:

V & H INC 1505 SOUTH CENTRAL AVF

PO BOX 189

MARSHFIELD WI 54449-0189

Phone: 715-486-8800

www.vhtrucks.com

Payment Terms: DUE ON RECEIPT Toll Free # 800-826-2308

The Driving Force in Heavy Trucks & Equipment

Bill To # 619502

CITY OF LA CROSSE PARK AND **FORESTRY DEPT** 400 LA CROSSE STREET LA CROSSE WI 54601-3396

Customer#

619502

CITY OF LA CROSSE PARK AND FORESTRY

**DEPT** 

400 LA CROSSE STREET LA CROSSE WI 54601-3396

Phone: 999-999-9999

Service Order: Invoice No:

54931 CL

Tag:

15976 3/29/2018 Cust Unit #:

Year:

1999 Ford

**Cust PO:** 

2500960

Date Opened: Date Closed:

4/20/2018

Make: Model:

LT8513

Sold by:

**BRIAN LEICK** 

Mileage:

Serial #:

2FZNAJCB5YAF82849

**WO#** 484956 SV

484957 SV

487762 SV

Service Order Summary **INSTALL SUPPLEMENTARY OUTRIGGE** 

**FABRICATE PAD HOLDERS FOR LOAD** 

**TOUCH UP REAR MODIFICATIONS** 

\$14,795.98 \$2,491.65

\$485.81

**TOTAL INVOICE** 

\$17,773.44

Our goal is your complete satisfaction. If you are not 100% satisfied, please contact our Heavy Truck Service Dept by calling 800-826-2308. All comments will be reviewed.

Note: Retorque wheels after first 100 miles of wheels assembly service.

See us for all of your Parts and Service Solutions

I hereby authorize the repair work to be done as described above on the machine(s) named hereon. All repair parts are to be billed at your regular price, I agreed to pay cash for such repair parts and labor on delivery of machine(s) or on terms satisfactory to you and until paid in full any unpaid balance shall constitute a lien on this machinery.

I further agree that you will not be held responsible for loss or damage to said machinery from fire, theft, or other causes beyond your control, Motor vehicle repair practices are regulated by chapter ATCP 132, Wis. Adm. Code, administered by the Bureau of Consumer Protection, Wisconsin Dept. of Agriculture, Trade and Consumer Protection, PO Box 8911, Madison, WI 53708-8911.

-- CUSTOMER COPY --

15+ time

# V & H INC



Sold To:

CITY OF LA CROSSE PARK AND FORESTRY DEPT

SERVICE ORDER:

54931

WO#: 484956 SV INSTALL SUPPLEMENTARY OUTRIGGE

Comments: install out riggers

install supplementary outrigger

install outriggers

hooked up test machine, ran out rigger out, went over repair with and where to drill a hole on the side of the outrigger beam with Kasey I.

install sub outriggers with 3 way switch next to crane seat and outrigger lights are powered by crane power cause strobe switch would pulse on lights

#### **INSTALL SUPPLEMENTARY OUTRIGGERS**

#### <u>Labor</u>

	Total labor	\$4,483.80
op Supplies		\$75,00
escription RSHFIELD LAB CUSTOMER \$120		<b>Amount</b> \$4,408.80

#### Parts:

Qty	Part Number	Description	Price	Ext. Price
10	CRANEPART	1139600	\$0.6800	\$6.80
10	CRANEPART	2140163	\$0.2700	\$2.70
1	CRANEPART	BS005-SA-A+00006	\$5,721.0700	\$5,721.07
1	CRANEPART	KSZ00178A	\$1,541.3300	\$1,541.33
2	CRANEPART	2"X24"X24" POLY PAD P242420 BL	\$241.3200	\$482.64
1	FREIGHT	CHARGES 43300	\$54.6400	\$54.64
2	INN702904	1/2" X 12" X 14" PLATE	\$26.7840	\$53.57
4	SPK1214	GUSSET PER PIECE	\$50.8400	\$203.36
24	LL19862	FLANGE BOLT 5/8-11 X 2-1/4"	\$0.6904	\$16.57
24	LL37350	FLANGE NUT 5/8-11 GR G FLANGE	\$0.3043	\$7.30
8	LL6801-8	8MJ-8MORB90	\$1.4858	\$11.89
6	LL6400-8-8	8MJ-8MORB	\$0.7645	\$4.59
8	LL15067	HEX CAP SCREW 5/16"-18 X 3-1/2	\$0.5026	\$4.02
12	LL36404	HEX NUT 5/16 -18 YELLOW ZINC F	\$0.0584	\$0.70
8	LL37262	LOCK NUT 5/16"-18 ZINC FINISH	\$0.0232	\$0.19
8	LL33892	SPLIT LOCK WASHER 5/16" YELLOW	\$0.0578	\$0.46
92	8M5K-XTF	1/2-5000PSI EXTRA-TUFF HOSE	\$0.4672	\$42.98
1	8G-8FJX	STEM FEMALE JIC SWIVEL	\$6.6109	\$6.61
1	8G-8FJX90S	FITTING	\$14.3969	\$14.40
2	PRESS	LABOR	\$3.5000	\$7.00
92	8M5K-XTF	1/2-5000PSI EXTRA-TUFF HOSE	\$0.4672	\$42.98
1	8G-8FJX90S	FITTING	\$14.3969	\$14.40
1	8G-8FJX	STEM FEMALE JIC SWIVEL	\$6.6109	\$6.61
2	PRESS	LABOR	\$3.5000	\$7.00
92	8M5K-XTF	1/2-5000PSI EXTRA-TUFF HOSE	\$0.4672	\$42.98
1	8G-8FJX	STEM FEMALE JIC SWIVEL	\$6.6109	\$6.61
1	8G-8FJX90S	FITTING	\$14.3969	\$14.40
2	PRESS	LABOR	\$3.5000	\$7.00
92	8M5K-XTF	1/2-5000PSI EXTRA-TUFF HOSE	\$0.4672	\$42.98
1	8G-8FJX90S	FITTING	\$14.3969	\$14.40
1	8G-8FJX90S	FITTING	\$14.3969	\$14.40
2	PRESS	LABOR	\$3.5000	\$7.00
84	8M5K-XTF	1/2-5000PSI EXTRA-TUFF HOSE	\$0.4672	\$39.24
1	8G-8FJX90S	FITTING	\$14.3969	\$14.40

See us for all of your Parts and Service Solutions

# INC. TRUCKS

# V & H INC

Sold To: SERVICE ORDER: CITY OF LA CROSSE PARK AND FORESTRY DEPT

54931

1	8G-8FJX	STEM FEMALE JIC SWIVEL	\$6.6109	\$6.61
2	PRESS	LABOR	\$3.5000	\$7.00
84	8M5K-XTF	1/2-5000PSI EXTRA-TUFF HOSE	\$0.4672	\$39.24
1	8G-8FJX	STEM FEMALE JIC SWIVEL	\$6.6109	\$6.61
1	8G-8FJX90S	FITTING	\$14.3969	\$14.40
2	PRESS	LABOR	\$3.5000	\$7.00
84	8M5K-XTF	1/2-5000PSI EXTRA-TUFF HOSE	\$0.4672	\$39.24
1	8G-8FJX90S	FITTING	\$14.3969	\$14.40
1	8G-8FJX	STEM FEMALE JIC SWIVEL	\$6.6109	\$6.61
2	PRESS	LABOR	\$3.5000	\$7.00
84	8M5K-XTF	1/2-5000PSI EXTRA-TUFF HOSE	\$0,4672	\$39.24
1	8G-8FJX	STEM FEMALE JIC SWIVEL	\$6.6109	\$6.61
1	8G-8FJX90S	FITTING	\$14.3969	\$14,40
2	PRESS	LABOR	\$3.5000	\$7.00
4	6400-8-8	FITTING	\$0.8556	\$3.42
80	8M5K-XTF	1/2-5000PSI EXTRA-TUFF HOSE	\$0.4672	\$37,38
4	8G-8MJ	STEM MALE JIC	\$6.3428	\$25.37
4	PRESS	LABOR	\$3.5000	\$14.00
4	8G-8FJX90S	FITTING	\$14.3969	\$57.59
2	8G-8FJX	STEM FEMALE JIC SWIVEL	\$6.6109	\$13.22
4	8G-8MJ	STEM MALE JIC	\$6.3428	\$25.37
2	8G-8FJX90S	FITTING	\$14.3969	\$28.79
288	8M5K-XTF	1/2-5000PSI EXTRA-TUFF HOSE	\$0.4672	\$134.55
2	8G-8FJX	STEM FEMALE JIC SWIVEL	\$6.6109	\$13.22
2	8G-8MJ	STEM MALE JIC	\$6.3428	\$12.69
16	PRESS	LABOR	\$3.5000	\$56.00
4	LL6701T-8	8MJ-8FJX90 ADAPTER	\$6.1795	\$24.72
4	LL6500-8	FITTING	\$1.7054	\$6.82
2	LL6701T-8	8MJ-8FJX90 ADAPTER	\$6.1795	\$12.36
4	2S-7018	VALVE	\$238.2784	\$953.11
2	10026222	KIT	\$46.7108	\$93.42
1	FREIGHT	CHARGES 43300	\$64.2300	\$64.23
1	E8DZ 10C912 A	DIODE ASY	\$31.6448	\$31.64
1	PEX 85224	POWERBEAD BLACK	\$20.8072	\$20.81
1	XG 12	GREASE - SPECIAL - ELECTR, CON	\$10.8872	\$10.89
			<b>Total Parts</b>	\$10,312.18
			Tax	\$0.00
				\$14.795.98
			Total WO	φ14,795.96

WO#: 484957 SV FABRICATE PAD HOLDERS FOR LOAD

Comments: worked on double outrigger pad holders and helped outriggers a bit

finished up pad holders welded chain to them sealed up coil plugs with dielectric greese and silicone helped scott re arrange plumbing for supp. outriggers

#### Labor

Description MARSHFIELD LAB CUSTOMER \$120		<b>Amount</b> \$2,040.00
PAD HOLDERS		\$368.16
	Total labor	\$2 408 16

# Parts:

Qty	Part Number	Description	Price	Ext. Price
2	5360	1/2" X 9" X 13" PLATE	\$13.0200	\$26.04
1	67220	GLOSS BLACK 12OZ PA84913	\$6.3655	\$6.37
1	INNIRON/MUD	IRON FOR MUD FLAPS	\$23.5600	\$23.56
8	LL19863	FLANGE BOLT 5/8-11X2.5 GR8 FLA	\$0.7393	\$5.91

See us for all of your Parts and Service Solutions

# INC.

# V & H INC

Sold To:

CITY OF LA CROSSE PARK AND FORESTRY DEPT

**SERVICE ORDER:** 

54931

8 4 4	LL37350 CRANEPART 042228061418	FLANGE NUT 5/8-11 GR G FLANGE 087196070109 HITCH PIN 3/16" SPRING HOOK	\$0.3043 \$3.5000 \$1,2952 <b>Total Parts</b>	\$2.43 \$14.00 \$5.18 \$83.49
			Tax Total WO	\$0.00 \$2,491.65

WO#: 487762 SV TOUCH UP REAR MODIFICATIONS

**Comments:** steam clean pad holders and supplementary outriggers. BLOW DRY & MASK OFF FOR TOUCHUP. paint pad holders and touch up outriggers.

#### Labor

	<b>Description</b> MARSHFIELD BS-TRK MATERIALS			Amount \$435.81
	MATERIALS		Total labor	\$14.39 \$450.20
Parts:				
Qty	Part Number	Description	Price	Ext. Price
1	BSCUP9160	5 QT, PLASTIC MIXING CONTAINER	\$1.9493	\$1.95
32	BS164-67640-01	IMR. IND, D-T-M /BLACK	\$0.7969	\$25.50
4	BS9T00A-8	IMR, IND. D-T-M ACTIVATOR	\$2.0393	\$8.16
			Total Parts	\$35.61
			Tax	\$0.00
			Total WO	\$485.81